
Q1
ai
the investor have a significant influence to the entity, the entity should accounted as an associate. when satisfy those criteria, it has a significant influence:
participant in the financial and operating decision making, and holding 20%-50% of shares is usually having a significant influence. and can have representation on board of directors.
Chuckle co acquired 30% of entity shares of Grin co on 1 April 20x4. although the percentage didn’t absolutely deterimine G is an associate.
and the remaining shares were holed be a few investors, none of them owned more than 10% of equity. and shareholders have voted independently and no clear past voting pattern, so C can’t directly influence the decisions of the other holders.
so G should be classified as an associate.
aii
there is one line of investment of associate in the statement of financial position. and one line in the statemetn of profit or loss showed as share of profit of associate.
the investment of associate should be recognised at the fair value of consideration at date of acquisition. in the case, the initial measurement of the investment of associate is $300m.
subsequent measure of the investment of associated should included the profit of associate from the date of acquisition to the year end , the amount is 300+(348-286)*0.3=318.6m at 31 march 20x6
and the share of profit of associate should be calculated at the share of difference of net asset, the amount is (348-186)*0.3=18.6m
b
it is a step acquisition of G.
if investor have the control of the entity, if can account as subsidiary.
IFRS 10 stated control is the power over the investee, and have a variable return from the investement, and can use its power to influence the amount of the return from investment.
and normally, investor should have more than 50% of voting powers, the entity can be treated as subsidiary. if not, it should also consider whether the other investors hold a large number of dispersed and unconnected shares.
although at 1 april 20x6, C only hold 48% of shares, it still significant large than the others, since others owned less than 10% of equity.
and it should consider the potential share, like the share option. and the potential shares are substantive. since the share price expected to increase, and the option is probably to be exercised. after exercising, the C have a 60% of shares, which abrove 50%.
so G can be classified as subsidiary.
 ci
before the additional purchase, G are treated as associate, after it, G is treated as subsidiary.
so the additiaonal purchase should be recognised at the acquisition date of fair value(fv), and the further changing of fv should be recognised at profit or loss and update the value of the previously purchased shares.
cii
total asset should be recognised at the fair value at date of acquisition
the deterred tax liability is arised due to the taxable temporary difference.
the fair value of NCA is 355-50+60=365, and the fv of CA equals to 214-84+131=261
intangible asset is a identifiable non-monetary asset without physical substance.
and when the future benefit are probably happened and the value can measured reliably, the intangible can be recognised in financial statement.
the database is internally generated, so the value can’t be measured reliably in the individual financial statement.
but in consolidated financial statement, because the datebase was transaction separately at price of $5m, so the value can be measured reliably and can recognised as intangible asset.
the difference of  fair value and carrying amount casued a temporary difference, its amount equals to 62. so the deferred tax liability is 62*0.2=12.4m
Q2
a
financial accountant try to provide loan to group A rather than compliance with the loans, which states that customer credit in the jurisdiction only allow such loan where the credit worthiness of the appliant has been checked. 
it would be a breach of a range of ethical principle including integrity, objectivity, professional behaviour.
financial account has full knowledge of the AI system, but he still to promote the loan to group A, which breach the integrity and professional behaviour.
and his commission is based on the number of loans affect the principle of objectivity and have a threat of self-interest.
because financial account would intend to increase his commission to make more loan to group A. and his interest are align with the loan’s interest.
the accountant should speak with the financial directors to explain the rule of the loan is not suitable.
and if the financial director refuse to change, accountant can discuss to TCWG to seek help.
he can seek professional advice from ACCA, and consider legal advice if necessary.
the financial decision for accountant, if matters cannot be satisfied, would be resignation.
b
IAS 38 states intangible asset is identifiable non-monetary asset without physical substance.
and when the future benefit are probably happened and the value can measured reliably, the intangible can be recognised in financial statement.
if the database and domain name can be sole separately, can get benefit separately, those are identifiable. in the case, the database relates  to a contractual arrangement, and R can receive a commission. so R can have future benefit from them, and the amount can be measured reliably by discouting the future  commission at WACC of R co.
R arbitrarily allocated the purchase price on 5.:5. basis, which is non-compliance with the accounting policy.
the purchase price should be allocated based on the stand-alone price of database and domain names.
c
it is not an accounting estimate, so the prospectively treatment is incorrect.
if before the year ended 31 December 20x8 did meet the recognition criteria for an intangible asset, so the previously treatment of capitalised expense is correct. 
because the environment change cause the criteria can’t be met at 20x8, so it is an indicator of impairment, according to IAS36 the impairment test should be undertaken, and any impairment loss should be recognised at profit or loss.
if before the year ended 31 December 20x8 didn’t meet the recognition criteria for an intangible asset, so there is a prior mistake correct, which should be retrospectively corrected as the capitalised amount had never happened.
Q3
A
IAS 36states when the recoverable amount is less than the carrying amount in financial statement, it have to recognised impairment loss of the difference. 
and the impairment loss should be recognised at profit or loss.
recoverable amount is the lower of value in use and fair value less cost of sales.
value in use is the present value of future cash flow, discounted at the WACC of B co.
impairment test should be taken when there are impairment indicators. impairment indicators include external indicators such as the global recession, and internal indicators the damageing of the products.
it is not correct for B didn’t take impairment test.
the price to book ratio was 0.3, which shows that the fair value was significantly less than book value, so it is an indicator of impairment. although it is similar with industry, but other co in the industry recognised impairment loss, while B didn’t have an impairment test.
the loss of disposal of surplus ship is not material for financial statement level, but not indicate it is not material to the ship. the loss of disposal is an indicator that the fair value less cost of sales is less than carrying amount, so an impairment test is necessary.
the estimated drop in market value from valuer isn’t reliable. because the valuer is not qualified and didn’t based on market transaction. so the competence of valuer isn’t enough, so the estimated can’t be a reason of not taken impairment test.
the B try to defer payment the debt into 20x9, it is an indicators that B faced a liquidity problems, which is an internal impairment indicators. so B need to take impairment test.
the cost of ship had fallen may cased the fallen in price of ship, untial the fv less cost of sell is less than carrying amount.
b
IAS 12 stated DTA  arise from the deductive temporary difference, which are the difference between carrying amount and tax base. 
and DTA is recognised for carryforward of unused tax losses or credit to the extent that it is probable that the further taxable profit will avaiable against which the unused tax losses and credits can be used.
whether the change of DTA should be recognised as profit or loss or equity should be depend on the model of the financial instrument.
if the financial instrument is on a FVTPL model, the change should be recognised as profit or loss.
the DTL and DTA can’t be offset unless there is a legal enforceable right. 
the law stated that B’s own DTL and DTA can be offset, but B’s subsidiary can’t be offset.
y is a subsidiary of B, so it can’t be offset.
and the same taxation jurisdiction isn’t the reason of offset the DTA and DTL.
C
Ifrs16 states the selling price of   should be allocated based on the fair value of lease and non-lease component.
IFRS 13 fair value is the price which translate in an orderly market between market participant.
fv is market focus rather than entity based.
for non-financial instrument, it assume that the current use is the highest and best use of the instrument.
lease is converys the right to control the use of un identifies asset for a period of time in exchange consideration.
for lease component, it should recognised lease liability(ll) and right of use asset(rua).
the amount of ll is the present value of the cash flow of future 5 years, discounted at the propriate rate. 
and the residual value of the LL and cash received from customers is value of the non-lease component.
Q4
ai
IFRS8 operating segment is the division can earn revenue and paid expense on their own. and the operating result are reqularly reviewed by COO to make decision about resources to be allocated. and discrete financial information is available.
in the case, B and S sell the same clothing with different brand name, and other division also sell products on their own.
CEO review the SOPL and KPI for each division. the division manager meet CEO each quarter to review the dividion’s performance.
after those review, mgt can decide the resource allocating of the divisions.
so the 4 divisions are operating segment. and IFRS requires to make adequate disclosure of the operating segment.
aii
the 4 divisions are operating segment. and the revenue is 10% or more of the combined revenue.
reported profitor lossr is 10% or more of the combined profit .
 total asset is 10% or more of the combined asset .
for 10% of revenue(20.6+10.8)*0.1=3.14 level,C division is satisfied reportable segment.
for 10% of total asset(42*0.1=4.2) level, T and C division is satisfied reportable segment.
for 10% of profit(6.4*0.1=0.64) level, T and C division is satisfied reportable segment.
in conclusion, T and C should be identified as separate reportable segment.
more than 2 operating segment can be aggregate into a single operating segment, when the total revenue is more than 75% of the entity’s revenue.
the t and c ‘s revenue aggregate as89.1% of the total revenue, so it satisfied the criteria of a single reportable segment.
IFRS  is encouraged to disclose the inflormation of the segment, so it is not appropriate not to disclose any segment information.
b
joint arrangement  is an arrangement where 2 or more parties share joint control.
for any financial and operating decision making, it required to have a unanimous consent of all the parties.
E and other 2 ventures share 1/3 of voting interests, and all key decisions wichn affect the venture are made by a unanimous vote, so it is joint arrangement.
there are two type of joint arrangement, joint operation and joint venture. joint operation is have right for the asset and liability, and don’t structured through a separate entity. joint venture(jv) can have right for net asset and structure  through a separate entity
in the case, there is structured through an separate entity G co, so it is a jv
and the investment in G should use the equity method and recognsied as investment in jv in financial position as one line at the fv of date of acquisition.
and there is one line of share of profit of jv recognised in SOPL, included the share of profit of G from date of acquisition to the year end.
operating segment is the division can earn revenue and paid expense on their own. and the operating result are reqularly reviewed by COO to make decision about resources to be allocated. and discrete financial information is available.
Gas a separate entity, it can sell products  and pay expense separately.
as a jv of E, mgt of W will regularly monitor and review of the operating information of G to decide the resource allocated. so G can be classified as an operating segment.
c
IFRS encourage to disclosure detail information of segment to help investors to understand the segment and then make more wise investment decision.
[bookmark: _GoBack]investors should used the financial and non financial information to make investment decision. with enough non-financial information about the segment disclosed in the note of financial statement, investors can have a better understand of the long-term operating objective and strategy, however the financial information almost just provide short-term profitability information. for long-term investment, the segmental information is very important.
the information can show whether the operating is align with the trend of the environment or policys. for example, the more importance of environment and sustainable, if the information shows the segment pursuit environmetn friendly products, there are more interest from investors, and attract more capital.
